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~Exercise-2.7-

1. With the aid of a sketch graph, solve each of the following inequalities.

e

(@ +1Dx-2)=<0 (b) x-3)x+5>0
() 2x-3)x+4)<0 (d Ex+DHdx-1)=0
() (%x +5)x-3)<0 6 (x-2)Gx+2)>0
2. Solve each of the following inequalities, giving your answers in set form.
(a) ¥*=9 b)) F2+2x+1>0
©) x(x+1)=<-202x+3) (d) 5°<3x+2
(e) (x—-2)> 9% ) 3@-2x=x+3x+3
3. Find the range of values of x for each of the following inequalities.
(@ x+2)x-Dx+3)<0 ‘ b)) E-2Yx+1)=<0
() ¥+37%-4=0 (d 22 +3x7-3x<2
) x(5:*+8) < %_(47;8 ~ 48) ® 22 =74+ 17x- 10
4. Find the range of values of x which satisfy each of the following inequalities.
4 4 —5x
(a) x+3>2—x (b) 1—2x>3
14 N 13 —4x 35
(C)_ ——x_222x 1 (d) P < p—
(e) 9 < Tx+5 (f) x+1 >~ 3

4A-x x+3 2x—1 x—2

5. Find the set of values of x which satisfy each of the following inequalities.

@ k-2 <1 ®) k-3=5 © Pr+d>5
@ |x-5| =11 © W=k ) -2/ < -3
(g 3x+2|<x-6 (h) 5]2x—3] > 4jx - 5] @ [2x+1)<3x+2
| ' g 1

O |Fzl<? @ | F5]=3 O |yt

4, @) 3<x<2,x>1

“Exercise 2.7 i
S1, (a) Asy<? (b) X< 5 x> 3 (b) —1<X<—2—
, 3 .
(c) —4<x<—g— (d) Xs_%‘,,\’?% (c) xs—T,i<xs4
() 0=<x=<3 () X<—%,x>2 ) x<-2 -5 <x<1x>3
2. (a) {X:,\/S—30r)(>3} (e) X<—3.X>4nx=1
E?)) (X:xER x=) 0 x<+-35) F<x<2

Y:3<x=<-2

{
@ {r:-%<x<1) x> {7+ 345)

. 1 5. (@ 1<x<3 ) x=-2,x=8
© {x: 1 <x<+] : N rEe
. 1 (c) x<—3,x>3 (d 3=x=<38
(") {X-XS—T,xzs} ) x?—;— ) 1<x<—§—
8. (&) x<-3,-2<x<t () x<—1 x=2 (@ 6=<x=<0 (h) x<—%,x>—g—
© x=1,x=22 ) o -1
Js Ry <a<t M x>-2 0 x<-8x>-4
(e) Xg—i—‘?-<,\/<4‘ 5 I ' 3
brz =hE K d<x=-11=<x<4
Ui —ZSXS—;-,xas 0 x<0




